Grade 3
Logical thinking (7w duy Logic)

This section includes the 1st question to the Sth question. Each carries 4 points.
Phan nay bao gom twr cau 1 dén cau 5. Moi cau 4 diém.

1. According to the pattern below, find the next number in the sequence.

Duea vao quy ludt duéi ddy, tim sé tiép theo trong day.

36, 35, 32, 27, 20, ...

A. 11
B. 12
C. 10
D. 13
Key: A

2. Today is Monday. Which day of the week was it 59 days ago?
Hém nay la thir Hai. Hoi 59 ngay trude day la thir mdy?

A. Wednesday / Thur Tu

B. Friday / Thir Sdu

C. Saturday / Thir Bay

D. Thursday / Thir Nam

Key: B

3. According to the pattern shown below, how many tomatoes are there in the 7th
group?

Theo quy luat dwoi day, hoi co bao nhiéu qua ca chua o nhom thir 7?
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Group 1 Group 2 Group 3 Group 4
Nhom 1 Nhoém 2 Nhom 3 Nhom 4
A. 19
B. 29
C.21
D. 27
Key: D

4. The age of Jennie 7 years ago equals the age of Lylia 3 years ago. This year,
Lylia is 24 years old. What is the age of Jennie 5 years from now?

Tuoi cua Jennie 7 nam truoc bang tuoi cua Lylia 3 nam trudc. Nam nay, Lylia 24
tuoi. Hoi tuoi cua Jennie 5 nam nita la bao nhiéu?

A. 19
B. 25
C.33
D. 28
Key: C

5. Based on the pattern below, find the 57th figure in the sequence.

Duea vao quy luat dwoi day, tim hinh thir 57 trong day.
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Key: C

Arithmetic (S6 hoc)

This section includes the 6th question to the 10th question. Each carries 4 points.
Phan nay bao gom tir cau 6 dén cau 10. Moi cau 4 diém.

6. Calculate 332 + 186 — 232 + 179 + 214.
Tinh 332 + 186 — 232 + 179 + 214.

A. 679

B. 579
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C. 632
D. 532
Key: A

7

Calculate 7x35-7x6+7x11.
Tinh 7x35-7x6+7x11.

A. 140
B. 350
C. 280
D. 210
Key: C

8. Calculate 15+ 19 + 23 + 27 + 31 + 35 + 39.
Tinh 15+ 19 +23 +27 + 31 + 35+ 309.

A. 154

B. 189

C. 162

D. 179

Key: B

9.

Find the value of 90+2+90+3+90+-6-90+5.
Tinh gid tri cua 90+2+90+3+90+6-90+5.

A. 15
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B. 108
C. 18
D. 72
Key: D

10. What is the number that should be filled in the blank?

Tim s6 thich hop dién vao ché trong.

:2 —-11 + 19 = 48
A. 88
B. 20
C. 80
D. 28
Key: C

Number theory (Ly thuyét s6)

This section includes the 11th question to the 15th question. Each carries 4 points.
Phan nay bao gom tir cdu 11 dén cau 15. M6i cdu 4 diém.

11.

Define the operation symbol as below: a®b-4xa+2=xb+3+b—-2xa. Find the value of
=2,
Dinh nghia phép todn nhw sau: a®@b=4xa+2xb+3+b-2xa. Tinh gid tri cila 52.

A. 19
B. 18
C. 28
D. 29
Key: A
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12. The Art club has 44 students in total. Given that the number of boys is 6 less
than the number of girls, how many boys are there in the Art club?

Cau lac bo Nghé thudt co tat ca 44 hoc sinh. Biét rcing s6 ban nam it hon 6 ban so
VOi 50 ban nit, hoi co bao nhiéu ban nam trong cdu lac bo Nghé thudt?

A. 16
B. 23
C.25
D. 19
Key: D

13. The sum of 7 consecutive odd numbers is 63. Find the smallest number.
Tong ciia 7 s 1é lién tiép bang 63. Tim s6 nhé nhat.

AT

B.9

C.5

D.3

Key: D

14. Find the sum of the 5th term and the 10th term in the arithmetic sequence
below.

Tim téng ciia s6 hang thir 5 va sé hang thir 10 trong day sé cach déu dudi day.

5,9,13,17, 21, ...

A. 41
B. 62
C.45
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D. 66
Key: B

15. They hang 36 lanterns on a street, including red and blue. Given that the
number of red lanterns is 3 times the number of blue lanterns, how many red
lanterns are there?

Ngueoi ta treo 36 chiéc den long trén mot con duwong, gom mau do va mau xanh.
Biét rang so den long mau do gdp 3 lan so den long mau xanh, hoi co bao nhiéu
chiéc den long mau do?

A.24
B. 12
C.27
D.9
Key: C

Geometry (Hinh hoc)

This section includes the 16th question to the 20th question. Each carries 4 points.
Phan nay bao gom twr cau 16 dén cau 20. Moi cau 4 diém.

16. How many squares are there in the figure below?

Hoi co bao nhiéu hinh vuong trong hinh dwoi day?

T

A. 14
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B. 10
C.13

D. 12
Key: A

17. The perimeter of a rectangle is 48 m. The length is 6 m longer than the width.
Find the width of this rectangle.

Chu vi ctia mot hinh chit nhét la 48 m. Chiéu dai hon chiéu rong 6 m. Tim chiéu
rong cua hinh chit nhat do.

A.21m
B.9m

C.15m
D.27 m
Key: B

18. How many rectangles containing the umbrella are there in the grid below?

Hoi ¢6 bao nhiéu hinh chit nhdt chira chiéc 6 trong lwdi é dwdi day?

2%

A. 18
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B.9
C.32
D. 24
Key: C

19. At least how many square faces can be seen if observing the figure below from
the right?

Hoi ¢6 thé thdy it nhdt bao nhiéu mat hinh vuéng néu quan sdt hinh dwéi day tir
phia bén phai?

A. 10
B.8
C.9
D.6
Key: B

20. The figure below 1s made up of 3 identical rectangles. Find its perimeter.

Hinh dudi ddy dwoc tao boi 3 hinh chit nhdt giong nhau. Tim chu vi cia hinh do.
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A. 114 cm
B. 61 cm
C. 180 cm
D. 68 cm
Key: D

Combinatorics (7 ] hop)

This section includes the 21st question to the 25th question. Each carries 4 points.
Phan nay bao gém tir cau 21 dén cau 25. Méi cdu 4 diém.

21. How many 2-digit numbers are there such that the difference between two
digits is 3?

C6 bao nhiéu sé6 cé 2 chit s6 ma hiéu giita 2 chit s6 la 3?
A.6

B. 12

C.7

D. 13

Key: D
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22. Oliver has 4 $10 notes, 5 $20 notes and 3 $50 notes. At most how many robots

can he buy given that a robot costs $24?

Oliver co 4 to 10 do, 5 to 20 do va 3 to 50 do. Hoi anh éy c6 thé mua duoc nhiéu
nhdt bao nhiéu con robot biét rang moi con robot co gia 24 do?

A. 12
B. 13
C. 11
D. 10
Key: A

23. Choose 3 digits with repetition from 3, 9, 1, 4, 2 to form 3-digit numbers. How
many odd numbers are there?

Chon 3 chit s6 dwoc phép lap lai tr 3, 9, 1, 4, 2 dé ldp cac $6 ¢6 3 chir s6. Hoi
trong d6 cé bao nhiéu s6 16?

A. 60
B.75
C.50
D. 45
Key: B

24. After Bruno gave Selena 8 stickers, Bruno had 3 stickers fewer than Selena.
Find the difference of the number of their stickers originally.

Sau khi Bruno cho Selena 8 hinh dan, Bruno co it hon Selena 3 hinh dan. Tim hiéu
s6 hinh ddn lic dau cua hai ban.

A.5
B. 10
C.11
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D. 13
Key: D

25. Given that Lylia can only move up or move right along the lines in the map
below, how many ways are there for her to go to the coffee shop?

Biét rang Lylia chi ¢é thé di chuyén lén trén hodc sang phdi doc theo cdc dwong
thang trong ban do dudi ddy, hoi co dy co bao nhiéu cach di dén qudn ca phé?

A. 30
B. 25
C.33
D. 35

Key: C
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